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[Roll Number

Candidate
Name

Test Center
Name

Test Date 12/06/2022

Test Time 12:45 PM - 2:15 PM
Subject Level 5

* Note
Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

& o ot)R0t8 - u & ot - CEN 01/2019- NTPC

2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1 el HOaER TS B AT AR 9ISTS HERE: 105 m AR s m T 2 1525 WA S e S X ¥, [ s T g

TR &l ARTE 1 1T |

Ans 1. 31,281
<2 71,293
<3 21275
<4 21302

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

115135952
1151353805
1151353807
1151353808
1151353806
Answered

1

Q2 e o] W & 2 HTT T 126 S 2 T § T ST €, T ST 33 I 1T €| § 91 o

Ans 1. 100
<2 96
<3 112
<492
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

115135942
1151353767
1151353766
1151353765
1151353768
Answered

1




Q.3 faah S anieler & o7 AT &EGE 1848 cm? ¥ HUEIS & WAGW T5 & ourd H was fhaer

e [FE AT = 2

Ans X' 1. 21 cm
<2 14 cm
3 28 cm
X4 35 cm
Question ID : 115135957
Option 1 ID : 1151353827
Option 2 ID : 1151353828
Option 3 ID : 1151353826
Option 4 ID : 1151353825
Status : Answered
Chosen Option : 3
Q4 Ru v Feedt & ¥ 3T FE-AAE F TAT Y, F AT gEer # 9o BE (7) F TUE W A
TRl &l
GSI, ITD, KUY, MVT, OWO, ?
Ans X1 JYM
<2 JXM
X3 QYK
v 4 QXJ
Question ID : 115135993
Option 1 ID : 1151353969
Option 2 ID : 1151353970
Option 3 ID : 1151353971
Option 4 ID : 1151353972
Status : Answered
Chosen Option : 4
Q5 g #fte BT (Indian Civil Services) # st g9 aren yuH sIRET
FiF a1?
Ans
X 1. AT T
v 2 TGty &Y
X 3. fegrlr srer aqear
X 4 TIEATT TAAT
Question ID : 115135674
Option 1 ID : 1151352693
Option 2 ID : 1151352695
Option 3 ID : 1151352696
Option 4 ID : 1151352694
Status : Answered
Chosen Option : 4




Y e § ¥ Fi9 @ AT IPv4 T3 A&7 &7
Ans x1.10.10.10.10

X 2.100.100.10.1

X'3.100.100.10.10

¥4 1000.100.10.1

Question ID : 115135680
Option 1 ID : 1151352717
Option 2 ID : 1151352719
Option 3 ID : 1151352718
Option 4 ID : 1151352720
Status : Answered
Chosen Option : 1
Q.7 ® v oa -
AT @laue & 34@%@ 53 11 ¥ m@ateT F
Ane X it waeT
X2 g §d
X3 Fifers dEER
& 4 AR RAT
Question ID : 115135651
Option 1 1D : 1151352603
Option 2 ID : 1151352602
Option 3 ID : 1151352604
Option 4 ID : 1151352601
Status : Answered
Chosen Option : 4
Q.8 fagEy 2021 &, sewieeTe 9T % FHT (ICC) F Serree FE 37% anfitew § B ara g
Fr gheror TR & R el v e e o §e
Ans X 1. %q’ m
X 2. AT smfear
v 3 a=g g
x4 T gHEpE
Question ID : 115135638
Option 1 ID : 1151352552
Option 2 ID : 1151352549
Option 3 ID : 1151352550
Option 4 ID : 1151352551
Status : Answered
Chosen Option : 2




Q9 fiw =1v Tt & & Fia @ 9 AT Tedn A &, S FeteEd gEwr & g fEd () &
T 9 HOET?

9.993001_ 500129 + 4,997 =7

Ans X 1. 565
~< 2. 985
<3 700
4 880
Question ID : 115135976
Option 1 ID : 1151353904
Option 2 ID : 1151353901
Option 3 ID : 1151353903
Option 4 ID : 1151353902
Status : Answered
Chosen Option : 4
Q10 37 fameT = wa= Hifsw, S ToE ER-AEE ¥ T A9y §, S S mE-aeg w1 S e
T # A gE NI W7 TEe WETN-TEE @ 2
AYTRES : SFTUZB :: MINTED : UFEQJN :: LTREAD : ?
Ans X1. DFRHRE
+ 2. FBESUM
X3 FBETRS
x4 DFRERT
Question ID : 115135990
Option 11D : 1151353958
Option 2 ID : 1151353957
Option 3 ID : 1151353960
Option 4 ID : 1151353959
Status : Answered
Chosen Option : 2




QM fw amw Fet it Frwdt @ caegEs w1 Fue § & o T @ we A g REw w e @
IF AT WIS 9Lt @ BT 9dE g @, 3 97 # T Ru v Feewt 7 T T @ e =
aifeher & & 9ol 3 27

FU:
FT WAA G 21

5 G e
[Cica

. T WA FeaaT g

II. = Femare Fe &

A v ar sy | 3t 7 & I oo e B
X 2 Fae fasey || 9re #ar 2
X 3. Fael ey | g HLar B
X4 gr @ foseRy | 4T || 9ol AT 2

Question ID : 115135989
Option 11D : 1151353956
Option 2 ID : 1151353954
Option 3 ID : 1151353953
Option 4 ID : 1151353955
Status : Answered
Chosen Option : 2
Q12 g & ¥ F9-9r Fu= 3TN (oligopoly)  TEr &7 & SRR Far ¥
Ans X 1.
o aR H el R avg & v & 0w R & afte Rkt Fr e sga wfves @ o aen
TIEAT A HIERR Fgl ST 2l
o 2.
g = # el e avg & oF & % e g1, A Resanstt T FEm w4 g1, O TR
T W AU wel ST Bl
< 3.
ﬁmﬁ%%ﬁﬁm%mﬁﬂﬁmm#mﬁﬂma ar ar=T
T & AR FEr e B
& 4.
Iy T=R # B Ry awg # % ow e @ A T & wEw w4 @, o e 5 a5
HeufeT Fg e B
Question ID : 115135658
Option 1 ID : 1151352629
Option 2 ID : 1151352630
Option 3 ID : 1151352632
Option 4 ID : 1151352631
Status : Answered
Chosen Option : 1




(NCDRC) & Famaer g% |

Q13 ¢ #, 3Tl T AT 1986 & A TSEY 3UsFar e fawror ameer

Ans X1 1991
<2 1987
« 3. 1988
< 41995
Question ID : 115135652
Option 11D : 1151352607
Option 2 ID : 1151352605
Option 3 ID : 1151352606
Option 4 ID : 1151352608
Status : Answered
Chosen Option : 2
Q.14 ¢
T AT g s A,
‘you can add’ # ‘cb ns pd’ for@r Smar g,
‘add their money’ &I ‘io uv cb’ for@r T &,
‘their bank can’ & ‘km uv pd' or@T STET Bl
(A Tl FHT Aeg FHae & HEW TTol HeE &)
& % Fe AT H 'money bank' & AT Hafag & e FAT B2
Ans w1 km io
X2 pd cb
X3 io pd
<4 cb km
Question ID : 1151351004
Option 11D : 1151354016
Option 2 ID : 1151354015
Option 3 ID : 1151354013
Option 4 ID : 1151354014
Status : Answered
Chosen Option : 1
Q15 e aréf & forw Sedfa e # TET @ e 9§ O wfE a) REm am
Ans x 1. ﬁ
X 2. ggelr
¥ 3 orerEy
X4 ity
Question ID : 115135654
Option 1 ID : 1151352616
Option 2 ID : 1151352613
Option 3 ID : 1151352615
Option 4 ID : 1151352614
Status : Answered
Chosen Option : 3




Q.16 e fapeft Tritet 7 a60e 3 U B 3, O of TRIEm 7 10 3ie T vl € oI €1 31 T 5204 31 I
F, T 3 TTH T T W s 2 A4 I gi | Tdte 7 3ol 29 6 i Srasae A o0 fhad O

Ans x 1. 156

<2 138
« 3 148
<4 146
Question ID : 115135954
Option 11D : 1151353814
Option 2 ID : 1151353813
Option 3 ID : 1151353815
Option 4 ID : 1151353816
Status : Answered
Chosen Option : 3
QA7 i Few Fwmw AT dRETE @9 @ 99 2015 F gl G fF i & d s
TEat F FEE & & B geds 9w Fr ‘@aue fREE F 7 & FAET S0
Ans X 1. 26 SFeTaEr
X2 26 sy
3 26 dAde
K4 26 S
Question ID : 115135650
Option 1 ID : 1151352597
Option 2 ID : 1151352600
Option 3 ID : 1151352599
Option 4 ID : 1151352598
Status : Answered
Chosen Option : 3
Q.18 The change in demand for a good or service caused by a change in a consumer's purchasing power resulting from a
change in real income is called
Ans X 1. marginal product
X 2. substitution effect
« 3. income effect
X 4. budget set
Question ID : 115135655
Option 1 ID : 1151352619
Option 2 ID : 1151352618
Option 3 ID : 1151352617
Option 4 ID : 1151352620
Status : Answered
Chosen Option : 3




Q19 Prafafda # ¥ 7 O 77 Ry F Forgz 87 F IEIE G ewT 577 32

Ans XK1 errer

o 2. SEET
X 3. oIgEr
X4 Areler

Question ID :

Option 11D :

Option 21D :

Option 3 ID :

Option 4 ID :

Status :

Chosen Option :

115135676

1151352702
1151352703
1151352701
1151352704

Not Attempted and
Marked For Review

Q.20 Which Indian American-led start-up was awarded the National Science Foundation Innovation-Corps (NSF I-Corps)
Teams Award' on 11 August 20217

Ans X 1. Bloom Energy
X 2. Zenefits
« 3. SoftWorthy
& 4. Instacart
Question ID : 115135635
Option 1 ID : 1151352537
Option 2 ID : 1151352538
Option 3 ID : 1151352540
Option 4 ID : 1151352539
Status : Answered
Chosen Option : 1
Q.21 & amEaEe % ghe AT, wwEeh Aftse, Redt # swh 7% T, e S e
Afesg o
Ans
X 1. Faeeld UES
R I
X 2. TATHEIA TTelh
X 5. TATHEA FoIae
v 4. HEFAE TeF
Question ID : 115135672
Option 1 ID : 1151352685
Option 2 ID : 1151352686
Option 3 ID : 1151352687
Option 4 ID : 1151352688
Status : Not Answered
Chosen Option : --




Q.22 oF e - 3w, fawa, 90w, gy, ofew At B # F wede B Ferd seeaee ¥ daw e B
TaT @ O ¥ 3AS FIA 99 § oI §) e oo @ o ¥ e aew o 6 R e B e
For i

Ans X1-4
2 1
X3 2

x4 3

Question ID : 115135991
Option 11D : 1151353964
Option 2 ID : 1151353961
Option 3 ID : 1151353962
Option 4 ID : 1151353963
Status : Answered
Chosen Option : 2

Q.23 fafees ot - o, From, e, &, e 3 A  oF oA S # UF F W U F N
AT o & saeteyT B T

o= 3T & T & St F 9 Fea 99 g9 @ 0§ 9 37 F e ® g S 1@n
31 Aster 3l 77 T F et & fi e FT 7 F S 16T T4 2

fre o1 & atew &1 o & ey Fure o T R E?
Ans x 1. ﬁﬁa

K2 BT

o 3. ehlell

X4 B

Question ID : 115135974
Option 1 ID : 1151353894
Option 2 ID : 1151353896
Option 3 ID : 1151353895
Option 4 ID : 1151353893
Status : Answered
Chosen Option : 3

Q.24 sroE A FEEDE TR AEE 9T Heiae & ey Teatead § ¥ e aeg 99 & A g
Ans x 1. EIF_H;‘-fT

X 2. daell

73 far

o 4 E‘rzﬁ'u'r[

Question ID : 115135668
Option 1 ID : 1151352671
Option 2 ID : 1151352670
Option 3 ID : 1151352672
Option 4 ID : 1151352669
Status : Not Answered
Chosen Option : --




Q.25 T s wyet i Fewst @ ceEs T8 a9 AT T By ae et § & #i9 @ R v s F

YR 9T T T §7?

EXEN

W=H<G<C>T=L>M

s
I . W<T

I c=>=M

e X garfsed | ik 7 & o I w=w B
X2 fEsR | 3k 1 gt ' &
X 3. Faer sy | g7 B
v Fad Temy || e g

Question ID : 115135995
Option 1 1D : 1151353980
Option 2 ID : 1151353979
Option 3 ID : 1151353977
Option 4 ID : 1151353978
Status : Answered
Chosen Option : 2

Q.26 v =17 fwedl # @ 3§ TS S 994 ST, Fr HetatE o F gew R (2) F e 9w oA

wHS B

8162, 7213, 6244, 2, 4246
Ans 1. 5255

x 2. 2555

X 3. 5525

x4 Bbb2

Question ID : 115135982
Option 1 1D : 1151353925
Option 2 ID : 1151353928
Option 3 ID : 1151353926
Option 4 ID : 1151353927
Status : Answered
Chosen Option : 1

Q.27 st & 3@ WO @ TS ST, B & % §@en # fd e # H@w & § W W @

ot g FreE

a_bca_  ca_b__ abc

Ans  X'1. abacaa
+ 2. aabaca
# 3. bacaaa
~< 4. aaacba

Question ID : 115135985
Option 11D : 1151353939
Option 2 ID : 1151353938
Option 3 ID : 1151353940
Option 4 ID : 1151353937
Status : Answered
Chosen Option : 2




Q.28 The situation in an economy when inflation and unemployment both are at higher levels is known as

Ans

X 1. inflationary gap
X 2. reflation

« 3. stagflation

# 4. inflation premium

Question ID : 115135660
Option 1 ID : 1151352639
Option 2 ID : 1151352637
Option 3 ID : 1151352638
Option 4 ID : 1151352640
Status : Answered
Chosen Option : 3
Q.29 wfyer s FaE mfta TE See FwA TS (Kudumbashree)” e I # wtfrad
3T ar?
Ans
&1 alﬁa;nag
X2 FHeE®H
& 5 T
X4 AT gaEr
Question ID : 115135656
Option 1 ID : 1151352622
Option 2 ID : 1151352621
Option 3 ID : 1151352624
Option 4 ID : 1151352623
Status : Answered
Chosen Option : 4
Q.30 #Fy ofmdwt ¥ @ T e ¥ #st it Ffow ¥ et & FuTet § e et FgT ST
|
Ans .
X 1. IfEas (mutation)
X 2. FOTAX0T (transfiguration)
X 3. afaefreroT (diversification)
« 4 Tl (metamorphosis)
Question ID : 115135664
Option 1 ID : 1151352654
Option 2 ID : 1151352655
Option 3 ID : 1151352656
Option 4 ID : 1151352653
Status : Answered

Chosen Option :

1




Q.31

Asthenosphere is a part of:

Ans X 1. Earth’s Core
X 2. Earth’s Crust + Mantle
X 3. Earth’s Crust
« 4 Earth’s Mantle
Question ID : 115135666
Option 1 ID : 1151352664
Option 2 ID : 1151352663
Option 3 ID : 1151352661
Option 4 ID : 1151352662
Status : Not Answered
Chosen Option : --
Q.32 BfewT g2 s &
Jiving inside houses’ I ‘ca de mo' Br@T =TaT &,
‘'snow houses built’ ¥ 'ni tp ca’ for@m maT §,
living with snow man’ & ‘vr hs ni mo’ @ Smar g1
(Fr: e T oeE A & T AT FTAE )
afg ‘built with brick’ @ vr aj tp’ To@T JmaT ¥, & 1§ T oT1 F ‘brick man' & v FelAg FE F@w
#rm?
Ans X 1. aj vr
<2 mo to
2 3. yr ni
« 4 hs aj
Question ID : 1151351002
Option 1 ID : 1151354005
Option 2 ID : 1151354008
Option 3 ID : 1151354007
Option 4 ID : 1151354006
Status : Answered
Chosen Option : 4
Q.33 28 ot Fr v 9fFT F, T A0 AT ¥ 129 TR W ofr 3T T oWy ¥ 199 Te W oo wfy
WE 3% S Jew & &1 off, o v By ¥ Sl 7 'E ST @7 a7 $few fF o sew
# 3T AW FH I8 |
Ans 5
K1 20ar
¥ 2 18ar
X3 17
K4 16ar
Question ID : 1151351000
Option 1 ID : 1151354000
Option 2 ID : 1151353998
Option 3 ID : 1151353997
Option 4 ID : 1151353999
Status : Answered
Chosen Option : 2




Q34 e avEw, TRy gt #7 St o e S 7 e {1
Ans X1 anefreRT

v 2. gfaolt 3AafET
73 ofdr
K4 Feaqr AN
Question ID : 115135645
Option 1 1D : 1151352580
Option 2 ID : 1151352579
Option 3 ID : 1151352578
Option 4 ID : 1151352577
Status : Answered
Chosen Option : 2
Q.35 The Negroid race is indigenous to which of the following continents?
Ans X 1. Asia
< 2. Australia
X 3. South America
« 4 Africa
Question ID : 115135648
Option 11D : 1151352591
Option 2 ID : 1151352592
Option 3 1D : 1151352589
Option 4 ID : 1151352590
Status : Answered
Chosen Option : 2
QI 3z @ ey &7 T =Y, A BT 9T wE ¥ HEeT S @ P
R>T>N>U=8<Z<V
Ans « 1. R } U
X2V <eT
X3 T=5
K4 N<e Z
Question ID : 115135978
Option 1 1D : 1151353911
Option 2 ID : 1151353912
Option 3 ID : 1151353910
Option 4 ID : 1151353909
Status : Answered
Chosen Option : 1




Q37 s FRu= &1 F T eSS B TT & & T Ieu st § F@6ttd €2

Ans %1189
W 2. 241
X3 221
x4 263
Question ID : 115135662
Option 1 ID : 1151352646
Option 2 ID : 1151352647
Option 3 ID : 1151352648
Option 4 ID : 1151352645
Status : Answered
Chosen Option : 3
Q.38 3 i ATell U YIS ST o 3] S UHGE 24 8| F 59 @1 H 18 SIS ol 2, df TR & 3! &
TSR GG o1 ¢ | 98 BIe! Y BICT Yo S T Sifon, Tord & T8 T # 8 9 02 T s guf @l gl
Ans 1. ()
X228
<3 12
o 4. 10
Question ID : 115135970
Option 1 ID : 1151353877
Option 2 ID : 1151353878
Option 3 ID : 1151353880
Option 4 ID : 1151353879
Status : Answered
Chosen Option : 4
Q.39
(162 ~ 9) ~ 3- (343 =~ 49) =~ 7 HIHIHJ SETISIY
LUCHED S |
<2 33
W3 5
=
x4 =
7
Question ID : 115135944
Option 1 ID : 1151353774
Option 2 ID : 1151353776
Option 3 ID : 1151353773
Option 4 ID : 1151353775
Status : Answered
Chosen Option : 3




Q.40 Frersrerd (124 oraTedy) & AT e & w=ar # Swd
7 F (fage) o7 amnfa §

ey f&fdse w9 @ e &

Ans o 1. 59
<2 90
<3 60
x4 96
Question ID : 115135671
Option 1 ID : 1151352683
Option 2 ID : 1151352684
Option 3 ID : 1151352681
Option 4 ID : 1151352682
Status : Not Answered
Chosen Option : --
QM 54 3R 18 P AT AT (LeM) AR AETH THTACSD (HCF) BT AR J1d o
Ans X124
X2 6
« 3. 66
<472
Question ID : 115135958
Option 1 ID : 1151353830
Option 2 ID : 1151353829
Option 3 ID : 1151353831
Option 4 ID : 1151353832
Status : Answered
Chosen Option : 3
Q42 Fq ol G & U oS o 5 OIST ol 2, o AT d so UIe gid € | TRe J1d il
Ans X 1. 172
< 2. 167
<3 192
w4 162
Question ID : 115135941
Option 1 ID : 1151353764
Option 2 ID : 1151353763
Option 3 ID : 1151353762
Option 4 ID : 1151353761
Status : Answered
Chosen Option : 4




Ans

x1.2
2
X2 2
2
&3 3
X4 —1

Q43 7f2 cot20 = 1+ cos?6— sin28,0° < 8 < 90°F, Tl tan?0 + cosec28 BT HMH I HIT|

Question ID : 115135965
Option 1 ID : 1151353859
Option 2 ID : 1151353858
Option 3 ID : 1151353860
Option 4 ID : 1151353857
Status : Not Answered
Chosen Option : --

Q.44 T v dEmrgEEr # @ g0 F, gEE GEw, g §E W vE Wi aio S w5 g @
w31 TeaRfE # ¥ 99 T3 v BAW Yo & 9o 9 8, AN 56 9eN T WA aA
1 37 TEm-gEs # T Y, S 3W wAEg ¥ watvd @9

Ans

Ans X120 : 401
<218 : 325
3 14 : 198
X4 22 . 485
Question ID : 115135992
Option 1 1D : 1151353967
Option 2 ID : 1151353966
Option 3 ID : 1151353965
Option 4 ID : 1151353968
Status : Answered
Chosen Option : 3
Q

45 SNA F T I 3e9ew &7 g § § FiF @ @2
X 1. exaeT 3wer
X2 gdt are

v 3. O 0T FT #ASET ST
X4 of9gdAT a2

Question ID : 115135642
Option 1 1D : 1151352568
Option 2 ID : 1151352567
Option 3 ID : 1151352566
Option 4 ID : 1151352565
Status : Answered
Chosen Option : 3




Q.46 el T 2 1,720 A ST IR AT BT 300 FH BTG 16% BT T U B o o0 3 o7 &1 b T W
EERIEITLE

Ans X 1. 3 2,866.40
« 2. 2,865.20
X 3. %2,865.50
X 4. 22,856.20

Question ID : 115135936
Option 1 ID : 1151353743
Option 2 ID : 1151353741
Option 3 ID : 1151353744
Option 4 ID : 1151353742
Status : Answered
Chosen Option : 2
Q.47 g =l - 7l WA, e, w7, J A e ¥ 9w ash & e, Sen, S e, g
3 e # F v SR 7 owE ¥ REwm W A 7 9we ¥ @ A g sy der o7 aw A E
wgr @ dEr 1 wHe g1 Fegr # T A gu T 9we A ¢ Al # Aor T 96 g1 dser A
TT & 378 T FiF O FISF Tar 87
Ans >
X 1. TIEGTSATS - AT
X2 Ag - Arer
v 5 faemr - drer
X4 GAH -
Question ID : 115135980
Option 1 ID : 1151353917
Option 2 ID : 1151353920
Option 3 ID : 1151353919
Option 4 ID : 1151353918
Status : Answered
Chosen Option : 3




Q48 v 71w Fuet i Tt # cAwES I FUe # & 7 T @ Ee A g AR w, e @

IF TS AT At F e g @ &, R aw = B B v Gt & @ Fi9 § w7

aifeher & & 9ol 3 27

Fu:

T wger e £

FC Ta M

Fo FeE 9T

T e T B

o

. F& aemE e §

Il. F& v TR §

lIl. 3o aemE =g i e aet §)
V. T Fga Fer §

A X1 Breme I 3R IV Bt Tee a1 B

X2 fsag | A 1 St 9o a1 Bl
X3 sy | 3 1 St g = §
v 4 Faer Ty || 9re T B

Chosen Option :

Question ID : 115135984
Option 1 ID : 1151353936
Option 2 ID : 1151353933
Option 3 ID : 1151353935
Option 4 ID : 1151353934
Status : Answered
Chosen Option : 4
Q.49
TfE 27 x 3 x 896 = V3136 = y + 640 & Ol y &I HH J1d HIfoL|
Ans X 1. 664
« 2. 656
< 3. 048
< 4. 666
Question ID : 115135950
Option 1 ID : 1151353798
Option 2 ID : 1151353797
Option 3 ID : 1151353800
Option 4 ID : 1151353799
Status : Answered
Chosen Option : 2
Q.50 g i Y RITY 400 AMS Tehafg &0 S a2 &1 a9 & (o Fafe 1 TS o 3R 39 IR =37 1 707
it Tehglg HYR UT B! TTE 11 e S B TUAT HZ-aTieh Iehglg YR WSS gill, o &1 au & a1
TRYEH TR &7 ORI £ 4,544 3TE@ giait | Fa 31 15 SR o 2
Ans X 1. 742,500
« 2. % 40,000
X 3. 737,500
X 4. 742,000
Question ID : 115135938
Option 1 ID : 1151353752
Option 2 ID : 1151353750
Option 3 ID : 1151353749
Option 4 ID : 1151353751
Status : Not Answered




Q.51 sa & vddla ¥ Souea AR oo & B dead rafE a3 ¥ 91y f¥eg 9ot REw
2021 & X W e # ¥ B Troee afEee F oy i ag o

Ans X 1. E-50
<2 E-65
<3 E-103
« 4 E-100
Question ID : 115135636
Option 1 1D : 1151352541
Option 2 ID : 1151352542
Option 3 ID : 1151352544
Option 4 ID : 1151352543
Status : Answered
Chosen Option : 4
Q.52 oy By - s, o, ofEe, e e ik T ¥ W 3o H AT qW 0 46 g1 A iy
T TFAT T FH: S8 AT = Tt 9 §5 ) ofrer AT A9 FAen g st v Rt o &4
g1 ofrem I F o AT S T F A4S T AT F S a9 7 wiF dondEr 17
Ans v ofraer
X2 Zrar
& 3. Qﬁm
X4
Question ID : 115135979
Option 1 1D : 1151353915
Option 2 ID : 1151353916
Option 3 ID : 1151353913
Option 4 ID : 1151353914
Status : Answered
Chosen Option : 1
Q.53 ¢ 1956 F o F HUR W FIF Tge (FH SRET TsT & 75 a1 7747 o012
Ans x 1. ﬁ' i
X2 aeTe
5 AT §eer
&4 EJ|G|I|F|
Question ID : 115135641
Option 1 1D : 1151352564
Option 2 ID : 1151352561
Option 3 ID : 1151352563
Option 4 ID : 1151352562
Status : Answered
Chosen Option : 3




ast A FEEE A H W HIH GRSl 3FA Fief HT g2
Ans X,]g_ls_éﬂ.mﬁa;m

X 2. gIEgieralieh Heol

v 5 ofafes e

X4 ATEeE HF

Question ID : 115135665
Option 1 ID : 1151352657
Option 2 ID : 1151352658
Option 3 ID : 1151352659
Option 4 1D : 1151352660
Status : Answered
Chosen Option : 2

Q.55 fagd 12 Gl & <R IR A Siiud = 6,250 Ui A8 & HHE @511 Uga Lo G & SR, JUPB] 2Med HHTS 2
5,800 WA A1g 21| SifeH &l #EH1 &1 S@aiy & SR gAY 1 uid 918 219d a1 ol ol

Ans 1. %8500
X2 27,750
X 3. 28,750
X 428,250

Question ID : 115135956
Option 1 ID : 1151353824
Option 2 ID : 1151353821
Option 3 ID : 1151353823
Option 4 ID : 1151353822
Status : Answered
Chosen Option : 1

Q.56 T TR aT TEw SEt B FT R (Cape Comeorin) Peafafem & & 5o oo & g
2

A X wEE
X2 T T
v o giHeTs

=
AR |

Question ID : 115135639
Option 1 ID : 1151352556
Option 2 ID : 1151352555
Option 3 ID : 1151352554
Option 4 ID : 1151352553
Status : Answered
Chosen Option : 4




Q.57 3 weeil &7 eay FHGa (LeM) 395 HeTH SHITES (HCF) BT 35 A1 €1 39 el & s gHad
(LeM) R g THIGES (HCF) &1 3R 238 81 318 GHT Temal &1 2R 14 8, 1 Teel &1 grea 91

BT
Ans 21 R4
<2 86
<3 82
<4 83
Question ID : 115135967
Option 11D : 1151353867
Option 2 ID : 1151353868
Option 3 ID : 1151353865
Option 4 ID : 1151353866
Status : Answered
Chosen Option : 1
Q.58 a5 By S, P, W, 7, BE Tem, 9 AT e v e 39 F IR AR 5 v
S ¢ AR, A & 9 FE T 8§, 9 AR, 9 genet § ¥ 5w & wew # #5 §)
st & wew # ¥ B o Aw gy & A L FelE ot e o 8 B e g e s
(e % Taadm) &1 oy A F o183 dY T W dS &1 A A Fr G v s & ome
# o g1 sere AT Rew F @9 & O @fem 35 §) O, RBew ¥ o T gEy T WO E
ET0T, O % & g9 H &% B # @ vw {1 e s wEet & 9w S de B &S €1 sesr
FT F E HT Y T W I 1 TG F Foy F TR § S @ S 77
Ans N s
X e R FFE F 9 waa 39 afeg 7§
X 2. foEor, T9 & 1% 3R g TUT W 93T B
X o T FHr T oo & Hew H FT g
v 4 A AR FHAA G ToA & S T H IS g
Question ID : 115135988
Option 1 ID : 1151353952
Option 2 1D : 1151353951
Option 3 ID : 1151353949
Option 4 ID : 1151353950
Status : Not Answered
Chosen Option : --
Q.59 Apcp UF TG IgUT 8. AB 0 BT AT 1 S LACD = 35° B, T £BAD B HF I1T FIfoC
Ans
< 170°
X< 2. 4K0
« 3. hh°
X4 60°
Question ID : 115135961
Option 1 ID : 1151353842
Option 2 ID : 1151353843
Option 3 ID : 1151353844
Option 4 ID : 1151353841
Status : Answered
Chosen Option : 3




Q.60 frem@r o O ERT-3ERT g FeA, I - REE, qem, ®EfE, e sk aeer # e o T8

WAIN § AN % UF & T & deEr-aeet RE F veie war & aer ok B o e F ae
HfFErdr €T &1 g AR 1 AISTET T FET F AT A ¢ 9F TRAR AR YFER # A ar FEwd A
7 & T FET H AT o ¥ 9F YFAN A GIee FET H AT S g

T g f&a Tmae 3 e F A o 87

Ans 1 TREAR
X 2. FASFRT I g
X5 FETEER
X4 OrEER
Question ID : 115135977
Option 1 1D : 1151353907
Option 2 ID : 1151353908
Option 3 ID : 1151353906
Option 4 ID : 1151353905
Status : Answered
Chosen Option : 2
Q.61 3y, st ot s ¥ gwa SRR suerer W senwa wY AR A BT e e w5 s &)
(FTHA8BRSA4YEBF#@OUY3I%LE6&KIRPV4B&%H#EUYBS#ED
AafafEa & ¥ Fi9 @1 57 79w F 90 Y & ged e F g IR A me w g
Ans o 1. @
X2 f
X3 P
X4 9
Question ID : 115135975
Option 1 ID : 1151353899
Option 2 ID : 1151353898
Option 3 ID : 1151353900
Option 4 ID : 1151353897
Status : Answered
Chosen Option : 1
Q62 + & + o+
Toadw, Taee 7 o &y g ¥ g=fag ar
Ans .
<1 T=1;_I:'-'T-I' EEll
X2 7@ Fer
v o IO FUA
<4 ﬂT_c:-I:EFH' EEL
Question ID : 115135673
Option 11D : 1151352689
Option 2 ID : 1151352691
Option 3 ID : 1151352692
Option 4 ID : 1151352690
Status : Answered
Chosen Option : 4




Q.63 wradr 2021 #, whT & 39UE TEOUT @ PSLV-C51 gERT RRE o % e @ AR # o smr

AT Aqr?
Ans v grEier
X2 Z.UHT.
< 3. FATTA
X4 TH
Question ID : 115135634
Option 1 ID : 1151352536
Option 2 ID : 1151352534
Option 3 ID : 1151352535
Option 4 ID : 1151352533
Status : Answered
Chosen Option : 1
Q.64 R s U &1 IS U AT SFRITRT 1200 A1 @ W 3 I 7 2 3,400 BT SN T 4RI (2 W) 09 o
Ans X1, 2,600
< 2. 2,800
X 3. 2,450
W 4. 2,500
Question ID : 115135963
Option 1 ID : 1151353850
Option 2 ID : 1151353849
Option 3 ID : 1151353852
Option 4 ID : 1151353851
Status : Answered
Chosen Option : 4
Q.65 fopaft o el Wiy 1 flieh TS 13 em @ IR S8 MR BT SAH 1447 e | 2T BT TFTH (e’ H) TG
ST
Ans X 1. 2251
X2 2457
¥3 240
<4 260T
Question ID : 115135940
Option 1 ID : 1151353759
Option 2 ID : 1151353760
Option 3 ID : 1151353757
Option 4 ID : 1151353758
Status : Answered
Chosen Option : 3




O e mew (Je 39) #1 g T @ @2

Ans

v Feaa q=a

NP ;

X2 e Hea = afadicadr / qgaw
X3 e Hea = fitaafeadr x caw
x4+ fage Feg = aftgafeaar + @A
Question ID : 115135657
Option 1 ID : 1151352627
Option 2 ID : 1151352628
Option 3 ID : 1151352626
Option 4 ID : 1151352625
Status : Answered
Chosen Option : 4
Q.67 =¥ H aar F == HT 7S & gEEr F1 Hed ey Fe $ gE F wtEAted R
Ans X 1. 1983
v 2. 1986
~< 31984
X< 4. 1989
Question ID : 115135669
Option 1 ID : 1151352673
Option 2 ID : 1151352675
Option 3 ID : 1151352676
Option 4 ID : 1151352674
Status : Answered
Chosen Option : 4




Q.68 R 71w Fuwt i Tt # AR W FU # & 7 T A A=Y g AR w, o @
9% AT A gt @ e ada @ @, 3 g B R v fewst & @ @l @ syt @
aifeher & & 9ol 3 27

FU:

FT A A g

F$ et ForeT 74§

Tl W FE

fore:

l. #7 ¥ F7 $T AT FogeT 8

Il 57 & 7 F& B oued

ANS X 1. Fraer TS | el AT B
X2 gy &t s | a1 |l el e Bl
v3i Far fasey | 3t T & 1l 9o w2
X4 frsd | 3t 11 @t arereT e F

Question ID : 115135998
Option 1 1D : 1151353989
Option 2 ID : 1151353990
Option 3 ID : 1151353992
Option 4 ID : 1151353991
Status : Answered
Chosen Option : 3

Q.69 FErear el Tedr TmOT A= T HRATEEA, ¥ & sgEaw AT & TREpa AgT
IR FE= & 2

Ans X1 70
<2 60
<3180
v 4100

Question ID : 115135659
Option 1 1D : 1151352634
Option 2 1D : 1151352633
Option 3 ID : 1151352635
Option 4 1D : 1151352636
Status : Answered
Chosen Option : 4

Q.70 sfEre #r aienis 16 3w 2020 # TRER & & off 3@ TN Fr TS F, Fr 2 FF 2020 M@,
Fhr @ 27 ar?

Ans X1 ERER

X2 TEEr
v 3 FETEE
X4 FHEAX

Question ID : 115135999
Option 1 1D : 1151353996
Option 2 ID : 1151353995
Option 3 ID : 1151353994
Option 4 1D : 1151353993
Status : Answered
Chosen Option : 2




Q71 o1, fedit GT § i TG TS &1 TG A 1 e, TRI B & (e & 2 & SRR 4, Sfalies 0% ¢ 1 4, TG B

FAF S 2 T TR T N TE A FTH 2 88 1. TG € T febartl

Ans X 1. %121
<2 F 108
<3 790
w4 Z 09
Question ID : 115135943
Option 1 ID : 1151353769
Option 2 ID : 1151353770
Option 3 ID : 1151353771
Option 4 ID : 1151353772
Status : Answered
Chosen Option : 4
Q.72 1960 #, FoFEd T T P TGAT FESE 3R =7 o & v Renfag o o=
Tl
Ans x
. AT
X2 TedlHeg
X3 Tiar
w4, EJIEIIFI
Question ID : 115135643
Option 1 ID : 1151352569
Option 2 ID : 1151352571
Option 3 ID : 1151352570
Option 4 ID : 1151352572
Status : Answered
Chosen Option : 4
Q.73 35 o BT URTTT (e ) 70 B, SR &5, 8 em 34 16 em AHUI AT T TS & 5T & TR
]
Ans 1. 35
X2 34
W3 32
x4 36
Question ID : 115135964
Option 1 ID : 1151353854
Option 2 ID : 1151353855
Option 3 ID : 1151353856
Option 4 ID : 1151353853
Status : Answered
Chosen Option : 3




Q.74 arsr #r a0 AfF THIE YR R/ FA §T

TR AfRea aaufr &1 60% Tfe w@ge =
12X W 2 I % Frv FEARE = 31 9 & 39 F 9 F 3§ 211,700 =@ 9o @ §, & € 9@

# forael v TERa s 37
Ans 1. 8,000
X2 27250
« 3. 37,500
<4 Z7,750
Question ID : 115135937
Option 1 ID : 1151353747
Option 2 ID : 1151353746
Option 3 ID : 1151353748
Option 4 ID : 1151353745
Status : Answered
Chosen Option : 3
Q.75 10 m 3R @ AT 12 m FEE AN U QFEET T FAT T E A A e & swemw ¥ w9
F 10% =g #9% 1 snaegear gt &1 ETF F92 #7896 (m? 7)) AT Ffew
[m = 3.14 7%
Ans @ 1.71.5m
X2 785m
<360m
X465n
Question ID : 115135969
Option 1 ID : 1151353874
Option 2 ID : 1151353875
Option 3 ID : 1151353876
Option 4 ID : 1151353873
Status : Answered
Chosen Option : 1
Q.76 o & @ fordr s[@ @A Fgr AT §7 FHi Ag AT F Seated AT §, Wi P Fo a9 § 3N
T F HEROT F IR Faw 32
Ans 3
1. U (Ghrelin)
X 2. IFHTEeA (Resistin)
3. 8 '
X 3. ggferd (Insulin)
XK 4 e (Leptin)
Question ID : 115135663
Option 11D : 1151352650
Option 2 ID : 1151352652
Option 3 ID : 1151352651
Option 4 ID : 1151352649
Status : Answered
Chosen Option : 3




Q77 20 sEmEs 2021 # STAA (PMO) Z8RT I RART F HFER, WEAy AEE (Somnath

Promenade) #I fohg = & dgd =g f&Far mar ar?
At X 1. 3zT W= (UDAY scheme)

X 2. g27 WA= (HRIDAY scheme)
¢ 3. g@Te A== (PRASHAD scheme)
X 4. 3FT Tr=Ta1 (AMRUT scheme)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135637
1151352548
1151352545
1151352547
1151352546
Not Answered

Q.78 =far v 3ife wREE RO 2019 & 30R, e & ¥ B0 Uo7 & waw 93 97 &9 (07 w9 ) 2

Ans

v TeT g
X 2. HgRSE
X3 FHHAEH
74 aifZer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135644
1151352573
1151352575
1151352576
1151352574
Answered

1

Q.79 4 3R B UHHR w5 S Bl 4s o 0 guf v ad €, 9afd B 2rkel 3w S & so &7 T ol e wehar
B G Ry BT el I3 S ¢, AifdeT B &1 g0l g 4 15 & Ted o1 8IS qat e | A R B = fha faA

T Ty HY fam

Ans s 1

x 2.
X 3.
x 4.

. 45
42
33
48

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status

115135960

1151353838
1151353840
1151353837
1151353839

. Answered
Chosen Option :

1




Q80 qrrgeor, v FEw P ¥ 2 @, v yew WEw Q @ D wene ¥, A 3% Hew F w9 & D aa gar ¥
n%agPﬂ:ﬁaﬁﬁmemm%;ﬁmaﬁﬁmmmww

Ans 15
o1 —
2
25
K2 —
3
20
K3 —
3
25
X4 —
4
Question ID : 115135949
Option 1 ID : 1151353796
Option 2 ID : 1151353793
Option 3 ID : 1151353794
Option 4 ID : 1151353795
Status : Answered
Chosen Option : 1
Q.81 36 om & R 12 om TG, TTC T 1Y el1fcdeh X T {TEEhR, U 3 cm FIGAT A6 GHH ATHR % 318 e
U A &1 U fbae Tiiel S0 o S @2
Ans 1. 34
< 2 38
<3 32
w4 36
Question ID : 115135966
Option 1 ID : 1151353862
Option 2 ID : 1151353864
Option 3 ID : 1151353861
Option 4 ID : 1151353863
Status : Answered
Chosen Option : 4
Q.82 xfowr &g K & e % aar §1 97 93 H1 A7 30 m Toar §, BT a7¢ 75 § 3K 20 m Teme g
M T Sg=rar §1 R 3% &1¢ #3535 m Ta &, R 3¢ s . sk 28 m s Rig R W e
¥l ¥ & 7F @ AqEAr §, R 50 m e Rg X W wgEer §
g K & @ fig X 5w R # &2
Ans
<1 ﬁ?—qﬁ
v 2. GO
X 3. Zhéor
74 of¥Tm
Question ID : 1151351003
Option 1 1D : 1151354009
Option 2 ID : 1151354010
Option 3 ID : 1151354011
Option 4 ID : 1151354012
Status : Answered
Chosen Option : 3




Q83 rraErR AEaE=H L LK LMIRNFHKEFaRadJatL HRMF =
g §1J M Fgmetdr RN, LA I am gmE M@ N & Fr wey 32

A X AT F R
X 2. g3/ & a7

v 5 grenfar & far
X 4 FTHATEAT F $T5

Question ID : 115135973
Option 1 ID : 1151353892
Option 2 ID : 1151353889
Option 3 1D : 1151353891
Option 4 1D : 1151353890
Status : Answered
Chosen Option : 3

A U T & 29.5% BIHM 0.50 ¢ | T8 TS J1d ST
Ans X 1. 1.8

o2 2

<3 25

K4 24

Question ID : 115135962
Option 1 1D : 1151353847
Option 2 ID : 1151353845
Option 3 ID : 1151353846
Option 4 1D : 1151353848
Status : Answered
Chosen Option : 2

Q.85 v YemmEr st foam # 12 km Te fig A & g B W wgEeh ¥ 7@ @ 7@ ar© Ak & 2w 20 km
Toet Rg C 9T wg=en §1 B, 77 90 {5 6 km TwA ¥ o By D X o ¥ 9 @, 7 =
e A & AN 8 km Fr gl T s g E T 9g=e §1 R, afEr fem # 18 km & gfr aw F
fig F = wg=eh &1
g F & wroer Tog A freett g7 it ow R & &2

AN ¥ 112 km, 9RER
X2 13 km, 9f99H
X 3. 15 km, gf&or
X410 km, &

Question ID : 115135997
Option 1 1D : 1151353985
Option 2 ID : 1151353987
Option 3 ID : 1151353988
Option 4 ID : 1151353986
Status : Answered
Chosen Option : 1




Q.86 v WEag T1fe HURT =0T $ &7 W UF 9Y F fov PRl v e awufr & 9fgemar %
&7 s 21,484 oM afE == oY 2% U g, & wa e 126,50 R gan JE e W
TRfeg gaufer W Saar == T @ ar?

Ans X' 1. Z2152.50
« 2. 2159
X3 2157
x4 216l

Question ID : 115135945
Option 1 ID : 1151353780
Option 2 ID : 1151353777
Option 3 ID : 1151353779
Option 4 ID : 1151353778
Status : Not Answered
Chosen Option : --

Q.87 T FaT % W 80 O U Weh 9Hd F Ieal H AN AW FF WS §1 TG FOE aw HY & 3047
A T E s Ry T 26T E TEr R AT F dw Fam o m B2

Ans  x 1 28
X2 33
3 24
x4 42

Question ID : 115135996
Option 1 ID : 1151353981
Option 2 ID : 1151353983
Option 3 ID : 1151353984
Option 4 ID : 1151353982
Status : Answered
Chosen Option : 3

Q88 T July 2021, Rakesh Asthana was appointed to which of the following posts?
Ans X 1. Director General of National Investigation Agency
« 2. Commissioner of Delhi Police
< 3. Vice Chief of the Indian Navy

« 4. CBI Director

Question ID : 115135631
Option 1 1D : 1151352523
Option 2 ID : 1151352524
Option 3 ID : 1151352522
Option 4 ID : 1151352521
Status : Answered
Chosen Option : 2




Q.89 vz, i oA auf I vk oy ) aeg &1 T TR 2 5,400 T TR IE ¢ | FTE1TS, S g B IR 518 &
T ey SaR-96T ol 8. Wi 5T 715 Ugd a9 H 7 0, GAY a4 7 7 24 SR R a9 A 7 14.40 6T T a9t

& QR BT GRI 58 9 9 o7 YA faa T Uil STy, ATHd ed I $ierg|
Ans 1. F 13.80

X2 %1290
<3 Z14.10
w4 3T 13.50
Question ID : 115135948
Option 1 ID : 1151353791
Option 2 ID : 1151353789
Option 3 ID : 1151353792
Option 4 ID : 1151353790
Status : Answered
Chosen Option : 3
Q.90 TR sin 2x = cos 60° cos 30° + sin 60° sin30° ¥, A FEARET & & FIF T tanx + secx F TeNfEAT A &
T &1 (78T 0 < x < 90°)
Ans 1. -\/§
x 2 V3
4
x3 VB
2
x 4. EAE
2
Question ID : 115135968
Option 1 ID : 1151353871
Option 2 ID : 1151353870
Option 3 ID : 1151353869
Option 4 ID : 1151353872
Status : Answered
Chosen Option : 1
Q.91 ¢ i
FTE 1 gl e Ffefia # @ e usw € weiva 32
Ans x
-
W 2. HEH
X3 FifZem
& 4. quﬁlg
Question ID : 115135678
Option 1 ID : 1151352709
Option 2 ID : 1151352710
Option 3 ID : 1151352711
Option 4 ID : 1151352712
Status : Not Answered

Chosen Option :




Q92 g FfT F ooy F AT F T FF T FUdT gEr =15

Ans .
v . SHH AT F Ay FE gedr AT gl
x 2.
sHH M 3uar & el TREAT & &1AT 71 I9AeT &ar Sar gl
X s EOH wEer H YeEr & T ¥
x4+ zmes T @er st Hreamerst Hr smETEar g9 B
Question ID : 115135647
Option 1 ID : 1151352587
Option 2 ID : 1151352588
Option 3 ID : 1151352585
Option 4 ID : 1151352586
Answered
Chosen Option : 1
Q.93 1856 # 3w F AT FT F TRAM, A9 ASE HAT AF F T F ger faar mam sk E= 1
TarfaT & e
Ans
X grEg
« 2. Fctdhedl
<3 AT
x4 T
Question ID : 115135670
Option 1 ID : 1151352680
Option 2 ID : 1151352678
Option 3 ID : 1151352679
Option 4 ID : 1151352677
Answered
Chosen Option : 4
Q.94
T Afad 3 e 7 825 m I ¢ | 3! 91 knvh H o 82
Ans  X'1. 16.8
<2 16.75
<3 16.25
W4 16.5
Question ID : 115135947
Option 11D : 1151353788
Option 2 ID : 1151353786
Option 3 ID : 1151353787
Option 4 ID : 1151353785

Answered

Chosen Option : 4




Q.95 zr gt w1 atwa 46 ¥ v Sl TEw @ e W, d gemet oo e 43 @ s #

Frad = T FifEw
Ans 1. 37
X 2. 40
<3 35
<4 38
Question ID : 115135955
Option 11D : 1151353819
Option 2 ID : 1151353817
Option 3 ID : 1151353820
Option 4 ID : 1151353818
Status : Answered
Chosen Option : 1
Q.96 2021 #F foafafEs § & 5 THw WEFR F ¥z =T (Grand Prize of the Fukuoka Prize)’ &
FraAa G e
Ans X 1. QfEET AT
X2 HASE 3l T
v 5. ATATEFAT WIS
X< 4. ITHHG Eaigi
Question ID : 115135675
Option 1 1D : 1151352697
Option 2 ID : 1151352698
Option 3 ID : 1151352700
Option 4 ID : 1151352699
Status : Answered
Chosen Option : 3
Q97 oady 2021 #, T AT 1@ AT IR 7 s FE w F gew 2
Ans X 1. @S
X 2. AR
v 3 Ty
& 4. 3'131 e EaL]
Question ID : 115135632
Option 1 1D : 1151352525
Option 2 ID : 1151352527
Option 3 ID : 1151352526
Option 4 ID : 1151352528
Status : Not Answered

Chosen Option :




Q.98 =¥ @ frmer 51 2021 F oftw & 3mfeE Sieh feg #0723 F mfyen wfFcea i Tt
(individual recurve event) H TUT 9E ET oT?

OO
X2 fear s
v o QIR FART
X 4 FEErger 247 ohRH

Question ID : 115135633
Option 1 ID : 1151352531
Option 2 ID : 1151352530
Option 3 ID : 1151352529
Option 4 ID : 1151352532
Status : Answered
Chosen Option : 3
Q.99 v Far & = Tagzndf =g, frr, Bl it aer, aeredTe &9 & ol @9 TS ¥ 3w
Fr FETE HEET-HE & AR Wiy ¥ o §, g fRvh @ dar &) R aeve @ o ¢ By feeh @
& &1 I e 3AF ¥ TEY o9 ©/F & 90 FE 9gar 8, & Faer 9aw R s
Ans :
v @
X 2. F@rErer ar @&y
<o Fdof
X4 fRrar
Question ID : 115135987
Option 1 ID : 1151353947
Option 2 ID : 1151353948
Option 3 ID : 1151353946
Option 4 ID : 1151353945
Status : Answered
Chosen Option : 1
Q.100 Which of the following types of read only memory can be erased by exposing it to an electrical charge and can be re-
programmed?
< 1. ROM
+ 2. EEPROM
~< 3. EPROM
< 4. PROM
Question ID : 115135679
Option 1 ID : 1151352714
Option 2 ID : 1151352715
Option 3 ID : 1151352713
Option 4 ID : 1151352716
Status : Answered
Chosen Option : 3




Q.101
15,2, 7,8, 11, 5 3R 14 P DI J1d S|

Ans o 1. 8

Chosen Option :

<2 95
X3.7
X4 75
Question ID : 115135953
Option 1 ID : 1151353809
Option 2 ID : 1151353812
Option 3 ID : 1151353810
Option 4 ID : 1151353811
Status : Answered
Chosen Option : 1
Q102 4 fopaft Bl & 7500 HIT I 30 frt o Q0T 2 Tl © 1@l B 1 B & 500 YFT ] 15 RA A i R whar 21
T 3 v ar s S & €, a1 o & foha 1 1 T 5 gol g
Ans 1
K1 —
19
1
K2 —
20
19
o3 —
360
7
K4 —
120
Question ID : 115135946
Option 1 ID : 1151353782
Option 2 ID : 1151353781
Option 3 ID : 1151353783
Option 4 ID : 1151353784
Status : Answered
Chosen Option : 3
Q103 A, B, C, D, E F, G 5 H te ol & & =0t 3R &1 & g & 30 7@ w0 35 &) 308 & 7R
U P W IS §, TG W AN TH-UH HA & 5% FAeF F 95§
GATH FH F JAT F AT AT E, G 5 0% oo # o1 ¥ E, F & 918 3R |y ®A
St FITHSF I T @R 58I B HF T 3iINSF Fa A 937 81 C, A F g€ 3T
Y BT W & §1 D F I MR 9 B W FE d3r
Ans * 1. G
X2 E
X3 F
v4H
Question ID : 1151351001
Option 1 ID : 1151354001
Option 2 ID : 1151354003
Option 3 ID : 1151354004
Option 4 ID : 1151354002
Status : Not Answered




Q.104 e <t 1 &l W ST T, FofTas) aTgdl B SO 7 ; 11 S 1 AT BIe MR E TS 77 cm 3, € S0 w91 @1

SEIERINCH I
Ans 1. 1.98m
<2 1.26m
/<3 1.80m
K4 121m
Question ID : 115135951
Option 1 ID : 1151353803
Option 2 ID : 1151353802
Option 3 ID : 1151353804
Option 4 ID : 1151353801
Status : Answered
Chosen Option : 1
Q.105 afy s feas &e o &, Ao =1 e Fer 1T &, ReTF A FgT AT &, THeIE P T
FET AT ¥, THS H A gl A §, AT TS FT SGH FET A §, A A R Jo e
T gefeT &2
Ans 1. TR
~ 2 gdrer
X 3. 9Iee
X4 gradr
Question ID : 115135994
Option 1 ID : 1151353976
Option 2 ID : 1151353974
Option 3 ID : 1151353975
Option 4 ID : 1151353973
Status : Answered
Chosen Option : 1
Q.106 zfy ‘e =t 'Tél Far =ar &, W&l = wE war ar &, St S awr wgr e 3 5 #+v
AOEORT FE AT e, AR T AT F R wm e s T e
e X pemeoTfea
X2 wéf
X3 Fur
v 4 AT
Question ID : 115135972
Option 1 1D : 1151353888
Option 2 ID : 1151353885
Option 3 ID : 1151353887
Option 4 ID : 1151353886
Status : Answered
Chosen Option : 4




Q107 7, Ufafe 7:40 am T R B 1wl € #R 0:46 am ToF T ST TETAT1 €| T 37, TF 7:40 am Tof 30 TR

@fﬁamm%,ﬁﬁﬂ@%ﬁws‘qﬁmwﬁg wﬁﬁvﬁagﬁmwaﬁg TA Y T HIA 81 T
39 & e =9 rafer ugan

Ans 1. 9:35:30 am
< 2. 9:30:55 am
X 3. 9:45:40 am
X 4. 9:25:50 am

Question ID : 115135939
Option 1 ID : 1151353756
Option 2 ID : 1151353753
Option 3 ID : 1151353755
Option 4 ID : 1151353754
Status : Not Answered
Chosen Option : --

Q108 By o fment #F ¥, BT & gew w=9viy OeR ST @ 2
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Question ID : 115135661
Option 1 ID : 1151352641
Option 2 ID : 1151352642
Option 3 ID : 1151352643
Option 4 ID : 1151352644
Status : Not Answered
Chosen Option : --
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Question ID : 115135981
Option 1 ID : 1151353924
Option 2 ID : 1151353922
Option 3 ID : 1151353923
Option 4 ID : 1151353921
Status : Answered
Chosen Option : 2
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Question ID : 115135986
Option 1 ID : 1151353942
Option 2 ID : 1151353941
Option 3 ID : 1151353943
Option 4 ID : 1151353944
Status : Answered
Chosen Option : 1
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Question ID : 115135971
Option 1 ID : 1151353882
Option 2 ID : 1151353883
Option 3 ID : 1151353884
Option 4 ID : 1151353881
Status : Not Answered
Chosen Option : --
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Question ID : 115135640
Option 1 ID : 1151352560
Option 2 ID : 1151352558
Option 3 ID : 1151352557
Option 4 ID : 1151352559
Status : Answered
Chosen Option : 1
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Question ID : 115135677
Option 1 ID : 1151352705
Option 2 ID : 1151352708
Option 3 ID : 1151352706
Option 4 ID : 1151352707
Status : Answered
Chosen Option : 2
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Question ID : 115135646
Option 1 ID : 1151352582
Option 2 ID : 1151352584
Option 3 ID : 1151352583
Option 4 ID : 1151352581
Status : Answered
Chosen Option : 1
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Question ID : 115135959
Option 1 ID : 1151353834
Option 2 ID : 1151353835
Option 3 ID : 1151353836
Option 4 ID : 1151353833
Status : Answered
Chosen Option : 3
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Question ID : 115135983
Option 1 1D : 1151353931
Option 2 ID : 1151353929
Option 3 ID : 1151353932
Option 4 1D : 1151353930
Status : Answered
Chosen Option : 4
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Question ID : 115135649
Option 1 1D : 1151352595
Option 2 ID : 1151352594
Option 3 ID : 1151352596
Option 4 ID : 1151352593
Status : Answered
Chosen Option : 2
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Question ID : 115135653
Option 1 1D : 1151352611
Option 2 ID : 1151352609
Option 3 ID : 1151352612
Option 4 ID : 1151352610
Status : Not Answered
Chosen Option : --
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Question ID : 115135667
Option 1 ID : 1151352665
Option 2 ID : 1151352666
Option 3 ID : 1151352667
Option 4 ID : 1151352668
Status : Answered
Chosen Option : 1
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Status : Answered
Chosen Option : 4






